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Instructions :

(i)  All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer
questions carrying 1 mark each. They are required to be
answered in one sentence.

(iv)  Question No. 6 —8 and 21 — 23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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v)

(Vi)

Question No. 9 — 11 and 24 — 26 are also short answer

questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

Question No. 12 — 15 and 27 — 30 are long answer questions

carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

Qs — A
Section - A

1. SR A s gframm e |

Define market demand.

Tea FTfed (ST 37X hiad TaT SR Bid @ : (TR feshed i)

31) haat Ut Ifer=ifirar & st=afa

q) hac THIEIHNICHS Tl o T=aid
) hael THIEIHR & STiid

3) Aft yR & SIER A

Average revenue and price are always equal under : (choose the

correct alternative)

2.
(
(
(
(
(a)
(b)
(©)
(d)
58/1/2

perfect competition only
monopolistic competition only
monopoly only

all market forms
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3.

SAITIIRT <1 hIS Ueh foreisar sIdTsU |

State any one feature of oligopoly.

= fafYr g A S W U a%g i 7 SAEER ¢ | $9eh hivd e
W : (T fohen giw)

37) 39 W U ¢ =59 | I3 Iiad Tl 2 |

(

(&) 38 W fhar T =5 w7 |
(&) 39 o foan T =2 He |
(3) 3 H @IS ot |

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :

(choose the correct alternative)

(a) no change in expenditure on it.
(b) increase in expenditure on it.
(c) decrease in expenditure on it.

(d) any one of the above.

S-S Tk = Al SR gAa] dieft T@T 7T 9% W Ew 96 @ 9 a9
2, wim ft Fmd o - (T feren gio)

(1) TR w2
(a) Frelt st 2
(|) st STl 2

(3) Y& firet 7, fw secht 2
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As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct

alternative)

(a) remains unchanged
(b) goes on falling
(c) goes on rising

(d) falls initially then rises

6. T IS hl shl THEIT shl RAT iU | 3

Explain the problem of ‘what to produce.’

7. 39t foveu i geRd § @y ff uwh avq s A SR 36eh
hia # famia grery g § | 9t | 3

AT

ST Tk SRl @7 SRUTTCH &1 Bid] & ¢ THSIEY |

Show that demand of a commodity is inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.

8. 3cdTeH TSl |1 (d%h) & o7 IR faeivard srarsy | 3

State the meaning and properties of production possibilities

frontier.
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9.

10.

11.

T NIRRT halel Q1 Sl 1 U LT § | ITNTTar forweryor s
L IUATHT Tl oh I THATST |
A consumer consumes only two goods. Explain the conditions of

consumer’s equilibrium using utility analysis.

USSR RIcHeR Tfaafirar st ot o fHater Yo 3R afertaa fasivar o
gfuri st ST i |

Explain the ‘free entry and exit of firms’ feature of monopolistic

competition.

Pl Q% AR W qREd! I o =9 & i =wo samse |
@ 1 ST IS |

AT

gfd <l shmd A "qoE Y sartafaes faftr smenee | et @ g
e |

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of

supply. Use diagram.

FhEdm afernfofat & forg Tom et 11 & R W
TRl 1T oh oM o T3 <207 Uah qtfctent hi TRTdT ¥ dmsy |
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AT

gl ® wfterda’ SR gfdd sht A § afEdd o sffe STa SHesy |

For blind candidates in lieu of Q. No. 11.

State different phases of the law of variable proportions with the
help of a schedule.
Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

12. T ®H o 318 shl AN dlfeteRt A1 &1 TRt @ | 3cTed o aeft Ta0 o
3IcqTE hl Ui SohTs TSR shidd 12 %. ® | HHTd drTg TR HHra 9w
(emm) fafsr & dqe 3cate &1 TR F1a RINT | 799 W o SR

ifora : 6
3ITE (3915) 1 2 3 4 5 6
3Ea A (%) 12 11 10 10 | 104 | 11

Given below is the cost schedule of a product produced by a
firm. The market price per unit of the product at all levels of
output is Rs. 12. Using marginal cost and marginal revenue
approach, find out the level of equalibrium output. Give reasons

for your answer :

Output (Units) 1 2 3 4 5 6

Average Cost (Rs.) 12 11 10 10 104 | 11
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13. g%g X I dud 9@ 10 Jfowrd oot § @ 3@kl W 150 1S o
gt 180 TohTS & T & | SHeh! [T shl ShiHd il ohl THeheld ehifaTy |
ggehl hid ferae gfaera =1 foh s8Rl AT 150 S5 @ 210 TS =1
M ?

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so

that its demand rises from 150 to 210 units ?

14. X 3 Y I a&qQ¢ E | Y it hiFd =2 It ® | 39 qiada o HR0 X &
TSR T B STl T9Tall shl STEelT shl SIReT shifsT |

HAYAT

T LG h AT A off ITeh! HJeH hIFd W IS dTel IHET
STGAT eh SATEAT hi [T |

X and Y are complementary goods. The price of Y falls. Explain
the chain of effects of this change in the market of X.

Or

Explain the chain of effect of excess demand of a good on its

equilibrium price.

58/1/2 8



15. TfaiRaa arfetert sl 9O i : 6

IS | A AT | 3 IREd AT | ST AT | Sfted fRR A
(zreal) | (%) (®.) (®.) ()
0 30
| 20
2 68 --- — —
3 84 18 - —
4 18
5 125 19 6

Complete the following table :

Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 --- --- ---
3 84 18 - —
4 --- --- 18 ---
5 125 19 - 6
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16.

17.

18.

@us - o

Section - B

=R SUSHTRT AT 379 918U |

Give the meaning of involuntary unemployment.

ST 9Tl FAT =T 2 ?

What is revenue deficit ?

IS Serl sl AT Fol ST 1 S AT TR Rid ek o a4
TG &A1 © 3 : (HEl ferhe g

(37) wiferfiren aetar AgdTd wEd §

() STHT ST Fed ¢

(|) TRId Fohg T

(3) el T TIUT

The ratio of total deposits that a commercial bank has to keep with
Reserve Bank of India is called : (choose the correct alternative)

(a) Statutory liquidity ratio

(b) Deposit ratio

(¢) Cash reserve ratio

(d) Legal reserve ratio
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19.

20.

21.

22,

I T 1 349 SIdqmsy | 1

Give the meaning of balance of payments.

TH HAT ol TG ST Hohell © : (T forehed ) 1

(31) S T TR

() sTrcfrr fosrd sk g7 TR SRt A
(|) e IS AT TG

(2) IWIh H foreft o grr =7gk

Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

HfH SRgHT IR meaad] aeqell § We HINT | Tk H TH-TF
ESCUIC IS 3

Distinguish between final goods and intermediate goods. Give an

example of each.

A I T TR AT HU H Ffohd A T TR AT | ISTEL0T
3INTT | 3

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.
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23.

24.

25.

5T o Yod 999 Y THEET |

AT

ST ATY[d o1 379 3TN $Heh Th FaTsy |

Explain the store of value function of money.

Or

State the meaning and components of money supply.

519 Sk TR o1 Skt oh SR ohl SRS shifST |

AT
HET AT o e § fag W X (i eiE ) i fien i sme
i |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.

HAATEY ol Toh TR SIsTe 3T forawor sht geTferd o gehdn 2 7

Explain how government budget can be used to influence

distribution of income ?
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26.

27.

28.

T SEE] Gga | ¢ | 38k R # fau mu frfeifaa steret @ fae

I Rl UNEheT ShifaTu :

(i) ™ =10000
(i) T 3T Y9 = 0.9
(iii) TSI TR = 100

An economy is in equilibrium. From the following data about an

economy, calculate investment expenditure :

(1) Income = 10000
(1) Marginal propensity to consume = 0.9

(111) Autonomous consumption = 100

T <fifete 3 famr § 9fg 800 Fre . ® 3R Himia s waft 0.8 2,
I OISR SRl sk THEST |

Assuming that increase in investment is Rs. 800 crore and marginal

propensity to consume is 0.8, explain the working of multiplier.

fargeft g1 it S S W ST 9 FA Tt 2 S gfd o el © 7
YHATIU |

Why does the demand for foreign currency fall and supply rises

when its price rises ? Explain.
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29. () TS I au (@) Faa T T o 1 uftehe hifsa

(5. S H)
(i) | facsn =t frae wre o (=) 50
(ii) | o TueE A 800
(i) | 31w fova @ fraet =me] s&aiam 100
(iv) | et s 200
(v) | frsft srfm suat =2 5000
(vi) | =Rl S| 39 = 3000
(vii) | Tehet <efi Sft fmor 1000
(viii) | ST=reT dSit 3T ST 150
(ix) | T | qiEaH (-) 50
(x) |faf3a o 4000
(xi) | forenfofn =t wEgfa 80

58/1/2
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Calculate (a) national income (b) net national disposable income :

Rs. in crores
(1) | Net factor income to abroad (-) 50
(1i1) | Net indirect taxes 800
(i11) | Net current transfers from rest of the world 100
(iv) | Net imports 200
(v) | Private final consumption expenditure 5000
(vi) | Government final consumption expenditure 3000
(vil) | Gross domestic capital formation 1000
(viii) | Consumption of fixed capital 150
(ix) | Change in stock (-) 50
(x) | Mixed income 4000
(xi) | Scholarship to students 80

30. 31 o ATV o Yok o U H Tohdl Q91T 3cq18 1 TR-Hifgen fafmr’
w3t =T Shifs |
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AT

[ N NI e

I o BT UG T IR hld THY ARG o T19 91 FaER
Al ? 37U I o forw e difse

(37) 331 o oo <t Tareen & sRaTeAt g SAfSa @y
(&) TS grn st st Tadsan fied W U e 3usr
(\) foesht weieent gra @it T aEE

Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(¢) Purchase of goods by foreign tourists
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